A & 0ol & AF S H Al A

20233 =0l WSALS

B 200 M2l
2210 BAEHLSY
8 211 AT+ (SH2l: & 2)
T-B-8-5 o & o FSEL VPR HimE==D
E 45,491,732 50,966,744 5,475,012
200 AI2I4-2) 35,619,955 33,840,381 1,779,574
210 FAHNISI4L 22,683,873 22,022,433 661,440
211 AT T4 781,953 607,810 174,143
211-02 TRUAUTHE 781,953 607,810 174,143
<UEDED > 620,153 602,910 17,243
ODYS TYRDX MBE 251,909,002 251,909
OUZS YDA AR 308,484,002 308,484
OAMES TYRDX MBE 34,699,002 34,600
ODYSE U HHS WX HXE ABE
25,061,002 25,061
< EXALD > 161,800 4,900 156,900
OZRML ABE 161,800, 0002 161,800
212 NBESY 14,034,026 13,376,959 657,067
212-08 EXR24Y 13,647,681 13,121,950 505,722
< EXALD > 13,647,681 13,121,950 505,722
OBYFNY FA23 4+ 13,647,681,0002! 13,647,681
212-09 JIEIAIEE 386,345 255,000 131,345
< DESFHI > 386,345 255,000 131,345
OHASZE ZDA +¢ 386,345, 00024 386,345
214 Arei4-2l 7,660,804 7,880,864 £210,970
214-05 JIEFAFRI %) 7,669,804 7,880,864 £210,970
<UEDED > 7,656,094 7,880,864 A224,770
ODYS YDA W HASTL B4
7,482,094,0002! 7,482,094
OSZLE HIEHA FIIBOH 223
174,000, 0002 174,000
<EXALD > 13,800 0 13,800
OMINSR BFI| 4243 13,800
—HAY DYFRE 70,0002+ 122 8,400
—4E BYFENY 50,0002+ 122 1,800
—AB3OAY TAENE 300,0009!+ 122 3,600
215 H4DPI4Y 160,000 150,000 0
215-01 +DEI4Y 150,000 150,000 0
<DEFB > 160,000 150,000 0
OZYDSALRLYS 2UT+ 193
3,000,000, 00021 5% 160,000
216 OIXt=-2) 48,000 6,800 41,200




& 200 M2l
2 210 BAEAM Y
g 216 OlXt=¢ (T2 J2)
F-2-8.-2 Off &F oH & L = 0| AFH Hus2
216-01 30301kt 40,100 0 40,100
< WSEM > 40,000 0 40,000
OLESMASESH =302 0l K=+
40,000,000& 40,000
< FEXHKIE > 100 0 100
O330 30Xt 50,0003 *23| 100
216-03 J|ELO| Kt~ 7,900 6,800 1,100
< FEXAIE Y > 7,900 6,800 1,100
OSAISAH |IEBI0 TSt Ol Rt (F=Xt==2)
7,900,000 7,900
220 SAIEAN L= 3,069,282 2,362,948 706,334
224 J|Et==& 1,046,682 277,948 768,734
22407 12| 1,046,682 277,948 768,734
< AOEAIEIEEZ > 59,640 59,640 0
Q20233 EFXIAA HABBAIAR 2542
59,640,000 59,640
< WSHIY > 38,634 25,500 13,134
OHASZE Z0A = (RIHIHXIA)
38,634,000& 38,634
<UH=znsy > 846,008 146,008 700,000
O3k 22R2= ¥ JIEt=+ 146,008,000& 146,008
ORIIIXIAN HE M SHI=Z 700,000,000& 700,000
< FEXAIE L > 52,000 0 52,000
O+ (SASH) 52,000,000 52,000
< FEXXIE 0 > 50,400 46,800 3,600
O & A= 30,000 #1404+ 123 50,400
225 NeE el 2,022,600 2,085,000 A62,400
22501 X &= 2,022,600 2,085,000 262,400
< WSEMI > 130,000 130,000 0
OussLRE=a 130,000,000& 130,000
<UH=nsyh > 83,000 83,000 0
OAtgEXE Haet 183 13,000,000& 13,000
OHANMEXZ Ui 60,000,000 60,000
OAtgEXe HARIer ez 10,000,000& 10,000
< FEXXIE 0 > 1,809,600 1,872,000 A62,400
OSYFEIRIE AHEE MBS
52,0003 *2,90021x12& 1,809,600
230 NILSEHIM - Rtz 9,866,800 9,455,000 411,800
231 H&2 60,000 60,000 0




200 M2l
2 230 NI NMN - s
g 231 &3 EERCE
g-2-8.5 Ofl & oH HE 0l At Husz
23101 U&= 60,000 60,000 0
<UHzEwsSl > 60,000 60,000 0
OAMHEIE et id= 60,000,000& 60,000
234 D= 4,710,800 4,535,000 175,800
2401 XA 2EUEHS 4,702,800 4,530,000 172,800
<UHELEDL > 210,000 210,000 0
OHANEXZ HEH= 210,000,000 210,000
< FXXE > 4,492,800 4,320,000 172,800
OS2l HEHS 36,0002 %10,40021* 128 4,492,800
234-02 JIEItEHZ 8,000 5,000 3,000
<UHsLEL > 5,000 5,000 0
OAHEXS Hreleh BHS 5,000,000& 5,000
< FXAIED > 3,000 0 3,000
OFIH&Y ALt WEHZ 1,000, 0002 32 3,000
236 FE= 5,096,000 4,860,000 236,000
2601 €3 5,09,000 4,860,000 236,000
<uUSHEHY > 5,096,000 4,860,000 236,000
OLSRLRES 5,600, 000,000& *91% 5,096,000
700 2EM-LSHUEHH 9,871,777 10,076,363 A204,586
710 E8AUS 3,000,000 10,000 2,990,000
711 A0S 3,000,000 10,000 2,990,000
711-01 =AIAHL A= 3,000,000 10,000 2,990,000
<uUSEHY > 3,000,000 10,000 2,990,000
O=AALN= 3,000,000,000& 3,000,000
720 LA A 2H 6,871,777 10,066,363 N3,194,586
721 M= 6,871,777 10,066,363 A3,194,586
721-03 JIEII A& el = 6,871,777 10,066,363 N3,194,586
< WSHHI > 6,871,777 10,066,363 N3,194,586
Ot M= 6.871,777,000& 6,871,777




20288k =

Al

Ol &F A

Al A

FA ADEAEIEE 2
M OMEID AQIES DESA IA
C9: ADIES DEXH S (DEA) (o) &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
AOtEAIEIEE 2 442,928 6,352,368 A5,909,440
OtMGt) ADESt WEEE &4 328,450 6,237,150 /5,908,700
ADESH RDSHAH 2 (SAHY) 328,450 6,237,150 /5,908,700
ANSEUSHA JI=HE =8 250,000 0 250,000
207 ARl 250,000 0 250,000
NIEEEET 250,000 0 250,000
OXNSEDEMH(TS) JI=H= 48 84
250,000,000 250,000
ANEZAl 2 - SRAIY 78,450 70,150 8,300
201 er23| 35,650 25,150 10,500
01 At2t2ltl 9,150 9,150 0
OITSHIAIU=l S=Hl S 4,750
—gt=2 A2 S=HI
350,000 x4 *13] 1,400
—HES=HI 2,570,000 x1E*12] 2,570
—JlsAlE 130,000 2 »33] 780
/=01 Sl 4,400
— ITSAIAICH =] 550,000 12| x4 2,200
—ITSE=2=H 550,000 x22|x2 2,200
03 A2 G| 26,500 16,000 10,500
OITSAHIHIOHEl &AlI2 24
26,500,000 26,500
202 04l 42,800 45,000 22,200
03 =IHR0I 42,800 45,000 2,200
O=AgR =&H0bl 42,800
— ITSHIAITH =l 3,800,000 «6E 12| 22,800
—ITSES = 2,000,000 x5 <22 20,000
eSS (ANEAMEIZER) 114,478 115,218 AT40
SENE(LSAHY) 114,478 116,218 AT40
A S0l A&t 114,478 115,218 AT40
311 XS0l Aratat 114,478 115,218 AT40
03 SIS0kttt 114,478 115,218 AT40
OXNsEUSHA(ITS) P SLERX
2= OlAtatet 7,400,000,000& *1.547% 114,478




H & 0l & AHS B Ml A

A NSEM
M IAUD ONE DESA X4
. DESURLT SUNA(DEAY) (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
wWSF M 12,703,122 11,744,011 959,111
AUALD 8B nSEd XY 12,573,079 11,586,252 986,827
WERLRLYS U (LNSAY) 87,734 94,207 6,473
WEREIFYS B> 87,734 94,207 6,473
101 21AH| 58,314 56,447 1,867
04 JIZtN2Z2XNSE+ 58,314 56,447 1,867
OuSHERYS SHXZA JIZHHZE2A ¢
rals] 40,945
—JlZ2= 9,620 +BAI 2t*14EH*30L 32,324
-5+ 9,620 x8AI2H* 14 +7 7,543
— %X 9,6203Ax8AI 2+ 14H 1 1,078
OuUSHELRYS SHXZA JIZHHZ2E2A A
=] 7,577
== 1, 7803 +BAI 2t*14EH*30 5,981
-5+ 1,780 +BAI2H+ 1487 1,3%
— %X 1,780 <8AI 2t 14H 1 200
OuEREREE= NEUAL JIZHHIZZ2 Xt 2!
rals] 3,695
== 9,620 *xBA| 2Hx4EH* 10 3,079
-5+ 9,620 +8A| 2Hx4H <2 616
OuSHRLRES NI A JIZHHMZ2 2R A
gas 684
—Jl== 1,780 +BA| 2H+4H 102 570
-5+ 1,780 8Al 2Hx4E+2 114
OUERLFYS SHTAL JIZN2ZA 2
Sk 5,413
—=oip3 48,522, 00024 4. 5% 2,184
A2 48,522 00021+3.545% 1,721
— L OIR )| Qo
1,721,0002%12.81% 221
—UEEE 48,522,000&*1.75% 850
—&HEE 48,522,000 +0.89%% 437
201 =3 27,980 36,600 AT,620
01 At22t2lt] 4,300 11,920 AT,620
OusSRLFg=s 294 Jl=28H| 3,800
-85 S 2002 +8,0000H 1,600
—QHHE 200& 4,0000H 800
— XA 802+10,0004 800
— AR =2 602 %10,00021 600
OuLERLRES T B4+
100,000& x5 *13] 500
02 S3=4gl 23,680 23,680 0
OusS=ERYs AN 28 QER=s 23,680
—gegeH 4302 +8,0004 3,440




SN DEFMY
M IAUD ONE DESA X4
S9l: DERYLLI FUIL(DEML) CERED
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—SJ1d 2,530 +8,000 20,240
202 04l 1,440 2,160 NT20
01 =LHOHI 1,440 2,160 AT20
OusS=eRYs IINH S22 EF0YI
40,0002 x3&* 122 1,440
Helst nsSHA 23 (SAHY) 10,421,821 9,403,521 1,018,300
nsFH 23 27,852 27,852 0
201 2= 18,000 18,000 0
01 Al 22IH| 18,000 18,000 0
OXoI9I5| (D ESSEI}, DEIHTH)
S a2 - U2 100,000 x10H +83 8,000
Ousdd SR f3s
10,000,000 *12] 10,000
202 04| 1,440 1,440
01 2L A LI 1,440 1,440
OAIRZMEHIIN(RSH) SH0
120,000 x1&* 122 1,440
203 FR=4| 8,412 8,412
03 A=A =] 8,412 8,412
OREL HAHHY P2=z
8,412,000& 8,412
Nse WSHHA =9 5,976,979 5,153,869 823,110
308 AHAIEMSOIE 5,742,929 4,983,169 759,760
11 21 2SOIhEHZ AR SIS AL 5,742,929 4,983,169 759,760
ONEXDHE ZAX SIS
5,742,929,000& 5,742,929
403 AXIEHHSAH=201H 234,050 170,700 63,350
02 SI12S0ItH etk =& 2 Ef A I 234,050 170,700 63,350
ORSIBHE X=X FIStAl]
234,050,000 234,080
oi2loluStiet 24 258,371 244,877 13,494
308 AXIMSOIA 252,571 243,527 9,044
1 SIS0t EAS A 252,571 243,527 9,044
O0iel0lnSLict d&H ASAIYI
252,571,000 252,571
403 AXIEHHSAH=201H 5,800 1,350 4,450
02 S 2SOt st =& 2 E AL H] 5,800 1,350 4,450
Oolglolnsuet A= S A
5,800,000 5,800
CHls ReJtbliet £X & 2l 830,784 580,970 299,814
201 Ler23| 196,500 178,090 18,410
01 At2teltl 131,100 127,090 4,010
ORI uWE HEEH HIIgAM =2 131,100




SN DEFMY
M IAUD ONE DESA X4
CHol: HRlE DEMN 2H(DEA) (el o)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
— &S 2EH2RZ 0I5t)
2,080,000 *60CH 124,800
—£E9BH2XIE 015
1,260,000 *5CH 6,300
02 s3=gHl 65,400 51,000 14,400
OReNsE &=3TH sS4 - HIIRks
50,0002 x109CH = 1204 & 65,400
401 AIZHIZ SO 684,284 402,880 281,404
01 Al&HI 680,000 400,000 280,000
ORQWE ==l EX
40,000,000& *17CH 680,000
03 AIZSTHYI 4,284 2,880 1,404
OFuWE =EEH £X
680,000,000& *0.63% 4,284
SX20l 2 30,100 36,220 A5,120
201 el 6,300 6,300 0
01 At22t2lt] 6,300 6,300 0
ORdXZ0 =S4l S 6,300
—zt 30,0002 *10H 300
—S=% 50,0002 *207K 1,000
—SE2E3 1,000& 5,000 5,000
301 LELE NS 23,800 28,920 A5,120
14 JIEt2d= 23,800 28,920 N5,120
O=dXZ0l gs2a= 23,800
—ZHIES 20,0002 *113E 62 13,560
— 2 WSAE 40,0002 x4 *64H 2~ 10,240
ASJ 2R & RN 1,329,770 1,329,770 0
401 Al HIZ R 0HbI 1,329,770 1,329,770
01 Al&HI 1,325,000 1,325,000
o4zl X 20,000, 0002 2094 2 400,000
OdsI| RAE= 1,000, 0002 65071 2 650,000
OuSAS MO wH
5,000, 0002 *30CH 150,000
OAIZE! SERISI| EXISA
750,000 »100CH 75,000
OgdH=2: IS8 AMESM
2,000,000 «257H 50,000
03 Al 2 HHI 4,770 4,770 0
Oel2Jl RA2+ S
1,325,000,000& *0. 36% 4,770
ta2etl AIAY RA2+ 288,944 288,944 0
401 Al HIZL S 0HHI 288,944 288,944
01 AlZ8| 270,000 270,000
Obtls2etel AIAE WHISAL 270,000




SN DEFMY
M IAUD ONE DESA X4
CHl: EHRIE DS 2SS (DEAY) (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—&AIEAHI 17,000,000 17,000
—SAtH| 253,000,000 253,000
02 Zcll 17,000 17,000 0
Otls2etel AIAY WHSA Z2lES
17,000,000 17,000
03 Al 20HHI 1,944 1,944 0
Obls2etel AIAE WHISAL
270,000,000 *0.72% 1,944
wsasI| HJRs 180,000 180,000
201 er2 3| 180,000 180,000
02 S3=gl 180,000 180,000
OuLEdSI| HIIes
25,0002 6000 A+ 122 180,000
HAESE QLY 1,313,759 1,313,759 0
401 A2 HIZL R 0HbI 1,313,759 1,313,759
01 Al&HI 1,287,125 1,287,125
OHAESE BHoAANE EX 1,287,125
—EZoHHDI 13,000, 0002 «50CH 650,000
—HAs2E 12,000, 0002 *40CH 480,000
—H AT 2 2,000,000 =25CH 50,000
—2g2% 2,500,000 =20CH 50,000
—xE8S 571,250 *100CH 57,125
02 Zeltl 22,000 22,000 0
OHAZECHD] A EAE &2l
22,000,000& 22,000
03 AIZSTHYI 4,634 4,634 0
OHAERY H2AAE &
1,287,125,000& +0.36% 4,634
=AMOHLUE E2sX3 23,260 23,260 0
307 glztol & 23,260 23,260
02 LB HAHE L 23,260 23,260
OsA0i0iLel nsSotdeEs X
23,260,000& 23,260
Oild1d| 112,002 112,002
801 ofieI| 112,002 112,002
B URE=RE=S 112,002 112,002
OUR=E=s 112,002,000 112,002
WEMA HEAIS (RS ALY) 1,606,480 1,631,480 A25,000
WKL 2E27F A 201,440 201,440 0
401 A2 HIRL R 0HbI 201,440 201,440 0
01 Al&HI 200,000 200,000 0
OO0l - =0l - BRSPS FXE+
2,000,000 * 10004 2~ 200,000
03 Al 2 CHYI 1,440 1,440 0




SN DEFMY
M IAUD ONE DESA X4
CHol: WEXH OHE AN (DEAIY) (o) &)
SA - A - S9I(E) - HIRAY - BES o &t e HIDE2
O0{gl0l - =01 - HHUESPE 72+
200,000,000 *0.72% 1,440
CHIA & nSHNEEXE RIS 1,405,040 1,430,040 A25,000
401 AIEHIZL 2 OHYI 1,405,040 1,405,040 0
01 AlZHI 1,400,000 1,400,000 0
OLHEA & NSHEEXE RAE+ S 1,400,000
—CHEA RAE=
2,250,000 *400km 900,000
~DEAT 257 LHEAl SREA
1,500, 0002+ 10004 2~ 150,000
—LSOHMEXE |SXES
200,000 *5000H 2~ 100,000
—FEX 2NPY DEFENT 2K
= 200,000 *5000H 2~ 100,000
~DSN 257 HNE K24
1,500, 0002+ 10004 2~ 150,000
03 AIE R 0HHI 5,040 5,040 0
COEA Y IEGNEXNE SXES S
1,400,000, 000& +0. 36% 5,040
WEMA HEAIS (LS ALY 457,044 457,044 0
agtsa XE 1,000 1,000 0
201 L2 1,000 1,000 0
01 AtR2telbl 1,000 1,000 0
Oggsdiaad &2 A
1,000 +505+20+ 2t 1,000
WEANEE X L BE3A 456,044 456,044
203 PR 2,804 2,804
03 AR =& R =AY 2,804 2,804
OuEAL= 22| LA
2,804,000 2,804
401 AIEHIZL S OHHI 453,240 453,240
01 A&l 450,000 450,000
OunsSAEE X & E3A
50,000,000 970 2~ 450,000
03 Al< = 0HHI 3,240 3,240 0
OUSAEES X & E3A
450,000,000 +0.72% 3,240
HY2IAH(RSE) 130,043 157,759 N2T,716
Pl AH|(LSAHY) 130,043 157,759 N27,716
QAR | 130,043 157,759 N27,716
101 e124d| 11,143 110,359 784
02 JIEt&E == 111,143 110,359 784
OULERLRLEZ IIN(AIZHEERRIOIS)
Q1244 96,856
—Jl=as 2,461,000 18~ 123 29,532




2N DEFMY
M HY2IZH(nSIE
Sl OIHSAH|(NSAIY) (CH9: &S1)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
—J|I=2a 1,996,000& x 1+ 122 23,952
=Jl23 1,624, 0002 x 1+ 122 19,488
=54 40,0003 «3Z*12& 1,440
—XZEXH| 155,000 *3% *35/40+ 12& 4,883
—ZMZAlY| 140,000& +3H x 122 5,040
—E225Y 136,000& x3H » 12 4,8%
—CHRI g =S| 50,0002 3+ 12& 1,800
—GJI2 4|
2,024, 00021 +3% x84%86% 1/30%1/7+42A1 24 878
—zu224g
9, 160&*3 *15A| 2t 123 4,947
OuUS®EREZ I 222 BE= 14,287
—SRRAS 96,856,000 *%% 8,718
AL 96,856, 00024 +3. 545% 3,434
— L OIR )| QO
3,434,000 *12.81% 440
—1E28d 96,856,000 *1.75% 1,695
307 212+01™ 18,900 47,400 A28,500
o7 A32X=223 18,900 47,400 A28,500
OunssgRga AIIH =2 83
90,000 *1H+30L »7H 18,900




H & 0l & AHS B Ml A

A HSuUSH
B HAQUD OB DESH XA
Ce: Helst 2SEM D8 (WUSAY) (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Hsnss 9,353,192 8,075,954 1,277,238
AUALD 8B nSEd XY 9,353,192 8,075,954 1,277,238
Helst 282N =8 (LSAMY) 1,132,984 126,784 1,006,200
SEEM 25 67,984 61,784 6,200
201 fer= 3| 57,184 50,984 6,200
01 At 2|l 25,414 20,414 5,000
Ouns<egr =23 XM & 222 M
Bl 3,500
—2XA 50& *30,0000HK 1,500
—E2=2 S MH 2,000,000& 2,000
OAMHENSI HESFE US| 2,530
—225 100,000 * 11 1,100
—&ets 80,000&*11H 880
—2%3 50,000&*11H 550
O"ARIEAte e S|
8,000 06« 123 5,184
ONNAMER HILF MEIA 0l1EE
300,000 * 122 3,600
O AHRMEIA OB
50,000& * 122 600
OHANMEXZ Rt A= HAI=E
100,000 x1&* 122 1,200
OXIAITH HI2=SAIAE N2 012 AFY
8,800,000& 12 8,800
2 352484l 31,770 30,570 1,200
Ost£EHl |l 12,900
—=54l 250,000 «2CH* 123 6,000
—28= 500,000 =5CH 2,500
—SUS (NS, EZHLREZ, ==
g 8) 1,400,000& 1,400
—HHl=elbl(Xeg, R S)
3,000,000& 3,000
OoRER3 7,370
—geged 4303 *2,4304 1,045
—s|I*# 2,530 *2,5004 6.325
OHANEXZ 2e|AAH K24
11,500,000 11,500
202 048l 10,800 10,800
01 2L AL 10,800 10,800
OusSKcts EH044I
10,0002 x9S * 102+ 12 10,800
WEEN XA 35,000 35,000 0
307 212+01& 35,000 356,000
02 2B HAHE L 35,000 35,000




A HSuUSH
M IAUD ONE DESA X4
Ce: Helst 2SEM D8 (WUSAY) (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ORI WSEMATES AMHAH
35,000,000& 35,000
HAABIA JHA 30,000 30,000
201 er=23y| 30,000 30,000
01 AtR2t2|HI 30,000 30,000
OHA MEIA JHEE flgt =8E WA &
s2Hl S 30,000
—cdE WA 20,000,000& 20,000
—E2H| 10,000,000& 10,000
0 HASEX DA HHEX ZEAH 1,000,000 1,000,000
401 AIEHIX S0 1,000,000 1,000,000
01 AlZH| 1,000,000 1,000,000
O HASS XX HEAS
1,000,000,000& 1,000,000
He|sh WSHAH 2 (RSAY) 8,220,208 7,949,170 271,038
SEXAX =X 2 7,983,678 7,746,847 236,831
308 AHXIHMSO0IA 7,957,490 7,712,582 244,908
11 S [2S0 e 4 A AS A 7,957,490 7,712,582 244,908
O3S XX L IASHA HaH ASAL
feefa] 7,957,490,000& 7,957,490
403 AXIEHMSAH=0ld 26,188 34,265 A8,077
02 SISOt =22 P E A I 26,188 34,265 N8,077
O3EXA H IIASHA HEH ASAL
2| 26,188,000 26,188
TSP EFSERE S NET el 236,530 202,323 34,207
308 AFAIEHMSOIE 235,531 202,323 33,208
11 SI[2S0 e EAS A 235,531 202,323 33,208
O=2s JIIsdx ZEE ASAEH
235,531,000 235,531
403 AXIEHMSAH=0lH 999 999
02 SIS0t 2 S A A 999 9%
O=22Zs HIISHAL H2H ASASH
999,000 999




H & 0l & AHS B Ml A

wSAH A

k

202385 =0l 4t

od
i’
oF
uJ

BIEQIS888 8|8 318|8 RIE(S8 Q12K RIR|<e|° RIS
I s|3|3 s|3s|3 NS Clo|© = S
N EEREEE slgle  |7|°|”  |zlzlz |g|glg 7|7 ME
KO | =i NN
A |<|<]< J1<1<
B
NEIBBEE ==l SEE EE SEE MAEE NE
IR QN3 Dls|a | 8|8
(@] N — | = [e ol BNl NaN) LO
war |8|B(8F (%7 888 Sk 4|8
KIS
IIK1[(3818|18 8 S8 881818 S8[(8[8(8 818188 SRR QLIS SIS 188 8 S S 8
Sole|sle|le & 8 s|g|s|e g|8|ls|e g|3|g|e Sle|egle ©lo|xs|dld d&2|s 8 8 88
— (<o) — | — | — — "ol Yol N¥e) Yol Ihelll SN AV NaN] [aN] 0 w0 Lo
Ng|2|e|ge e =88 88 8 g|g|8 g|g 8|8 €188 Blgs & EER
<
S
= @ @ R @ o ol 4 A4
2 & = i = = = 5 33
- - — - - - S X
on D = =
or % m m i m Wﬁ._v & m W g
0 S 8 = g g 2 o o g 83
5 : 3 , - 4 s g¢
; = O ol = OF ] m
3 28 - A B © 8
< KI = 8 Gl
g oM 70 1 A -
x g W P - = =
. w  uo o <o |a " .= Ok M
= Eow = |8 < @ ._%o mb D _.A._mﬁ.Mmm = ok m@@ = =
= 5 AL i |ro pED e N 7 25 % ow
oF W | 1o =5 W o KT no |8 = |05 oKD = =2 o- > T SRR T
3 R 3 B ¢ |zl ¥ (X BT a2 ®s|a 0| < =
RO g0 lak| ™ |5 | =ls|m o [RElEk| R0 |RO|Gk WA R ® |ak| = A =<
= <0 NSIs s e w5z |kleldx [R5E < [R5 PRI EE (S = 2
Rl REVI D g a0 a0 o |(Mm|w R |z|2|or kb [Pl o |[Klw|w 30 [F|glo|a & |=|w 80 H kK 8
RO mmno&MM_x_ﬁ_ L= = 8 |orlan|= & [wl=|= < mmMMmam_xnoﬂ@Mzo =|= H | _ _
: =5 ls © wisls © |Rlsls © [Zlsls © sls © |R|Hglg © |55 ©
X a3k =T R Kk | o | < 5| K- | 80 | S
DF [z | 0|30 |KF KF ~ < &l 0 | HO
= |o| o A0
K| <
Kr




ESNINE=Il}
NS SSEFTUE &5
BYFIUE FAZLI(NEAY) (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—L=X WA € A ZX
75,000,000 #20H 2 150,000
—4FNE 7A2d
50,0002 *4,000&H 200,000
—SEAEE =X |A2e
2,000,000& 150 300,000
Ol 2Zd Sy 25 & FAl2c
200,000,000& 200,000
03 AIZ S THYI 5,130 5,832 AT02
Oy RA2cISA
1,425,000,000& +0.36% 5,130
Y N gAY 201,440 201,440 0
401 AIEHIZ R 0HYI 201,440 201,440
01 Al&H| 200,000 200,000
OFXtE e ZEAL
50,000,000 #40H 2 200,000
03 A2 THYI 1,440 1,440 0
OAIE20HbI 200,000, 0002 *0.72% 1,440
A=Y A2 244,815 248,000 A3,185
201 fer= 3| 244,815 248,000 A3,185
01 At 2|l 244,815 248,000 23,185
SAFAY Sz XS 244,815
—4S dISAHE & 23 2A Si=2
3,995,000 1,447 .4m" 2 S%x1.1 189,015
— SRS FY 2 FA gls
85,800,000& 85,800
g =Al2el 3,000 3,000 0
201 fer= 3| 3,000 3,000
02 S3=gHl 3,000 3,000
OXtg =Xl2eld| 3,000,000 *1CH 3,000
SEF=NE2Y N2 (RSA) 14,647,155 14,266,800 380,355
=tes 0y & =2l 4,950 0 4,950
201 el 4,950 0 4,950
01 At22t2lt] 4,950 0 4,950
OtlEdEE AMblAa & 8XESF AblA 4,950
—Z2EE NMHIA 550,000 550
—&AYFE AHIA 4,400,000 4,400
SEFAY ASAEYI 14,642,205 14,266,800 375,405
308 AFAIEHMSOIE 14,365,179 14,207,858 157,321
11 SI[2S0 e YA AS A 14,365,179 14,207,858 157,321
OZAISAL XA Z&H IS AEHI
8,032,833,000& 8,032,833
OZAISAL AAFA a5 2ASAIEHI
6,332,346,000& 6,332,346
403 MR EHSAHE01H 217,026 58,942 218,084




od
i’
oF
uJ

P FIRIS8]8 QIX|< o] L2
S sla|s|s|e S|s N S
i [e0) )| Yo} <
o B> B|8|B|R|R 3% 2 2
ﬁuﬁ_v <
B
al N |lolo|o N~ s [~ o o
S 3|3 33| 5]
[Te) —
upar |© g% 9=|® N
uiled
KIS
N 2 BI=EI=|88]|8 SI=ElRIN R 3 3 X P
S © =|3|3|s|sle 3S|S|S|S S d ds ©
5 % B|g|g|B|g|8 B|els|z &8 85 5
al
<
S
® W o o % o
S ] S S S ]
s 8 S S S S
oir 5 B 5 S 2 § 38 53
= 58 55 =8 = 8 =8 =5
B s 8 A Mw 0 A
A K K =4 K
5 X =
ol |z or ir %0 %0 a1 %0
< |.N|0T Ok = = = =
U - K K- 4 70 KF
T |&g W W w80 w80 Y K B0
A L [ Z0 Mo 0 zoﬂm R . Ho
o lm=z X wlm 40| |l dn =% = 4B
oF |T K . mo ol oﬂoﬂ_.a %0 [ oD oﬂo”wm S _._m oﬂowﬂm
o N P P B 0 L B = = =TT (R -
il T AW | |s ™ WS A g R0 o HOC
e LT Bl e e R T T = - L
W= = = |Z|W{M05 g ®moo|K|an|s ®o0 po W0 g7 B0
RO g% % ﬁm%ﬂm%NOﬂ%ﬁmg mmnm%m
. al R I8 WA (1 1=l e Mm|=|x Q
I+ W |’ | = =4
OF | I
=




H & 0l & AHS B Ml A
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FEI A= 531,718 513,433 18,285
201 er23| 339,586 333,536 6,050
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165,000 « 12 1,980
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207 ARl 43,000 43,000
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OdExg SHFEXUNHEE Jtiet 7
24,482,000 = 1CH 24,482
DS Puds 535,188 572,986 A37,798
201 er23 | 534,836 572,986 238,150
01 At2teltl 113,402 85,882 27,520
Otz XA dI& 2 ol
1,500,000& 122 18,000
ONESEUHE S ME I
1,820,000~ 128 21,840
Osslat dTLFAHIA AIZR 21,120
—AEHEANHIA AIEE
2,200,000& 2,200
—AAEHEAMEIA AEE
10,120,000 10,120
— S AU, AL A2
(6602 +2,50024 )+(552130,00024) 8,800
Onga fsMAF(GHM) S =28
1,000&+1,00024 1,000
OMSAIAE! AIBIIC P 442
802 x50024 123 480
Ozctel BXOX =2
1503 %5504+ 12 990
O AHE A =2
802 *13,00024* 12& 12,480
OXAIL NSH2A=RAAE 2012 AL
22,000,000& 22,000
OXEIHE JHUE =2
1,000,000& *1.6%+ 122 192
OSY=gX 2Als AA=E 14,400
—J= 100,000& x4 & »22| « 12 9,600
—=1 50,0002 x4 *23|x 12 4,800
OHAD A2F 7
150,000 »2CH*33] 900
2 s5=4g4l 421,434 487,104 65,670
OoR#ERs 416,370
—aged 4302 %65, 10024+ 123 335,916
—SJIfH 2,530 2,650+ 122 80,454
OXZEIHE 22| SRS
20,0002~ 12& 240
OMgxtg gise ALY FX24H]
402,000 123 4,824
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01 AL =S F=HI 352 0 352
Oo#mAI| 2 352,000 *1CH 352
HY2SFHI(FRUHXEM) 1,441,210 1,508,045 66,835
QIA2SH (RSAY) 1,441,210 1,508,045 66,835
eIg =3 1,441,210 1,508,045 AN\66,835
101 e124d| 1,377,729 1,420,099 A42,370
02 JIEtM = 838,756 771,148 67,608
FAXEE L BEHSHE 2] ARMIER
I=PAPNIpeiFal:] 791,864
—J123(0t2) 2,424,160 «20H 123 581,799
—JtE=4 60,0002 «20H 122 14,400
—S+372E 150,000 «20E 122 36,000
-
50,0002 #35/40A1 2H+20E * 122 10,500
o EL RS
9,000 *34A12+208 x 123 73,440
—dAZAHI 140,000 x20& « 122 33,600
—otE A
2,424, 1603 x84%+86%+*1/30%1/7x20E 70| 2t
11,675
— g2 x|
145,000 #35/40A1 2t+x20H * 122 30,450
O=FXttts 2 WS 2] AIRMIER
2IIH 282 46,892
—JdHEE 815,624,000 +3.545% 28,914
—LoRIRYTH
28,914,0002%12.81% 3,704
—UEEE 815,624,000& *1.75% 14,274
03 SRA(RIH )22+ 538,973 648,951 109,978
OFgXtets & SdH &8 S22 22| 538,973
—JlEs 2,167,300 x14F 128 364,107
-5 60,0002 x14H 12 10,080
—A2t2 24
18, 1203+ 14 *30A| 2+ 123 91,325
—dAZAHI 140,000 x14E 128 23,520
—SEFOHI 1,300,380 x 14 & 23] 36,411
— Q2 &I 96,640 x14H 10! 13,530
M HA=RE=SS 63,481 71,302 NT,821
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—=01013 569,415, 00021 %4. 5% 25,624
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